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2/ TH 2 & (ke/m'
e ﬂu{;;ﬁm) x/)c (87)\ 21N = 2 (kg/m')
> > W C S G AD
PLAIN 25 65.0 480 | 195 | 300 | 873 | 953 -
WINFLOW-SM 25 55.3 470 | 166 | 300 | 854 | 970 | 1.5
WINFLOW-SM 25 52.7 47.0 | 161 | 300 | 860 | 977 | 2.1
@ Al }
T KSF2560 PLAIN WINFLOW-SM
SN ALEEH(% - - 0.5 0.7
312(%) Plain(+3.0+0.5) 1.4 4.6 4.8
=& X (mm) 80 + 10 85 80 80
2 =2(%) 10 014 - 14.9 17.4
Selg Lol (%) 70 0I5} 100 56.0 53.6
=2 -60 ~ +90 0 +30 +45
SZAIRZHAIREEZ
52 -60 ~ +90 0 +35 +45
3g 115 0l 4t 100 135 139
LE2E (%) 7 110 0l 4t 100 128 132
28 110 0l 4t 100 125 129
2018152/ 8] (%) 120 015t - 106 104
ATHS EF A 2=(%) 80 04 - 97.3 97.9
% ZOIBISIAIE @ 7L (2o+2 T) 6)hE SB4E2 (2520+2C, 5560+5%)
* SSHHNSLAIE 1 SAMSE (4C — -18C, -18C — 4T) 200 Cycle
= == - ==2 =K &S ™S
&mlj%:%% Ef:iii;)gzi —91og|, FjX%OOArB) 211~ 9H1 06 K




